Equal 9 step grey scaling betweeb* g;n=23 & L*aw=100.0,Yy,e=100, normalisation whiteW

L*0anF23.7,L*0au=61.8,L* 0aw=100.0,Yoan=4.0, Yoau=30.2, Yoaw=100.0,Coay=Yoaw Yoan=25.0
L*tan=77.3,L*1a=84.5,L*1aw~100.0,Y;an=52.0, Y;au=65.1, Yiaw=100.0,Gay=Yiaw: Yian=1.9

Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 BL* min] / [AL* max], L* cleLaBw = 116 [Y/Y,]/3 - 16 with Y >= 0,882,Y,=100

g*_*5: 99, g%y= 99 9%= 30, g%= 23 g*5= 5_9, g*g= 45
L* cieLaB,w intended output real output linearized output
n0.i L*0a L*Or YOa YOr : L*a AlL*a L*r Yta (L*r) 1206 *a AlL*a
100+ ()9 1000 10 1000 1.0} 1000 1.0 1000 1.0 100.0
: 46 2.3
8 904 0875 77.3 0.763 95.4 0.799 886  0.897 97.6
: 41 2.4
7 809 075 583 0566 913 0617 792  0.791 95.2
75—+ ' 3.6 24
6 714 0.625 427 0403 87.7 0.457 714  0.684 92.8
: 3.1 25
@5 618 05 302 0273 845 0319 651 0575 90.3
: 26 25
50+ @+ 523 0375 204 0171 819 0.205 60.2  0.464 87.8
: 2.0 26
@3 427 025 130 0094 799 0.115 565  0.35 85.2
: 15 2.8
@2 332 0125 76 0038 783 0.047 538  0.227 82.4
1 1.1 5.2
25T @1 237 00 40 00 773 00 520 00 77.3
o= 3 YoaitY,
*o = i= i normalisation: Yigjw=Yoawo2aioref
AL*52=9.5 (i=1,2,...,8) : taiw OaWYOaW"'YOref
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